Wednesday 10th February – Gold Coordinate Task

Remember: To plot coordinates accurately, you go “along the corridor and up the stairs”. (X, Y)
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7a. Match the coordinates fo the points
on the grid.

7b. Match the coordinates fo the points
on the grid.
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8a. Write the coordinates of each shape.

8b. Write the coordinates of each shape.

with their corresponding lefter.

3b. Plot the coordinates and label them
‘with their corresponding leffer.
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7a. Sam thinks that the coordinates below | 7b. Daisy thinks that the coordinates
make a hexagon with a vertical line of | below make a pentagen with a vertical
symmetry. 4 line of symmetry. K
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ﬁ Is he correct? Explain why. . ﬁ Is she correct? Explain why.
8a. Follow the clues. What could the 8b. Follow the clues. What could the
missing coordinates of the shape be? missing coordinates of the shape be?
The shape has The shape is
one pair of aregular
parallel sides. | polygon. »
The shape has The shape
fewer sides than 10| crosses all four 10
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7a. Sam is incorect because (2, 3) should
be (1, 3) fo make a hexagon with a
verfical line of symmetry.

8a. Various answers, for example:
(15, -20), (15, 5), (0, 15)

9a.(3,0), (3, -3)

415, 5),

Greater Depth
7b. Daisy is incorrect because (1, -1)
should be (1, -2) fo make a pentagen with
a vertical line of symmetry.

8b. Various answers, for example: (0, 10),
(-5,0), (0, -10), (10, -10), (15, 0)

9b. (-3, -1).(-3,2), (-1, 3)




